CLASS 12

VECTOR ALGEBRA

PROJECTION OF A VECTOR ON A LINE
EXERCISE

Find the projection of vector of 12 units, on another vector, and the angle between
the tw vectors is 60 degrees

(A) 4 (B)8 ©6 (D) 12

What is the projection of vector 41 + 2j + k on another vector 3i — 2i + 5k ?
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Find the projection of the vector 4i + 2j + k on the vector5i — 3j+3k, using the

projection vector formula.
Find the projection of the vector 5i + 4j + k in the direction of the vector

3i + 5i — 2k by using the projection vector formula

Find the projection of the vector 2i — j + S5kand4i —j + k.
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Find the projection of the vector 2i — 6j + kand8i — 2j + 4k

Find the vector projection of vector a= (2,3,1) in the direction of vector
b=(5-22)

Ifa = (1,-2,2) and b = (5, ~2,2) find:

(a) The scalar projection of a in the direction of E

(b) The vector projection of a in the direction of b.
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(a) The scalar projection is 13 /+/33.
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(b)  The vector projection is g (5,—2,2) or g (51 —2j + 2k)




